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7828 9:10| FHHMXESAT [(EEZD)) £ |Nal 0.13 0.81 0.13 0.98 0.68
7828 9:16|LEAIEHE [(GEZD)) £ |Nal 0.09 0.80 0.12 1.04 0.49
7828 9:19|LEMEiE (ZB9aD) £ [Nal 0.11 0.64 0.12 0.47 0.58
7828 9:24| XKBIBRR—YNERA F—rx+>78)| & [Nal 0.10 0.10 0.09 0.10 0.53
7828 0:20| X #8IA R AR—Y/NEH (ZH5) £ |Nal 0.06 1.00 0.07 1.14 0.33
7828 941|CELE (EP) = |Nal 0.15 0.82 0.15 0.98 0.79
7828 9:43|CELE (FEO) £ |Nal 0.10 0.45 0.11 0.44 0.52
7828 9:47|CELE (FZ 0D | £ [Nal 0.05 0.87 0.06 1.03 0.28
7828 9:50|CELE (ERE) £ |Nal 0.06 0.92 0.06 0.99 0.33
7H2H 958t HIMKESRT [(GEED)) £ |Nal 0.10 0.79 0.11 1.00 0.55
7828 10:04| K& (ZER £ [Nal 0.09 0.63 0.09 0.44 0.48
7828 10:11 | B E b R EE SRR (E¥E15) £ [Nal 0.09 0.57 0.10 0.61 0.45
7828 10:29[FEHh X H{b 22— (F9ED) £ [Nal 0.09 0.53 0.09 0.59 0.46
7H2H 10:19[ I EEMMXRE ST [(GEED)) £ |Nal 0.09 0.57 0.10 0.92 0.45
7828 1024 oL FEMXESFR (ZBHED £ [Nal 0.09 0.09 0.08 0.08 0.47
7828 10:35| &iRiEKAS [(GEED)) £ [Nal 0.10 0.98 0.11 1.35 0.52
7828 10:49|J 4Ly (EARR) £ |Nal 0.19 0.71 0.15 0.77 1.02
7828 10:55[d 1Ly (%8R0 £ [Nal 0.07 0.74 0.07 0.67 0.39
7828 11:04 B D ERA S [F (GEXD)) £ |Nal 0.12 0.77 0.11 0.96 0.63
7828 11:09[;EDERE 5L (ZEHED) = |Nal 0.11 0.47 0.10 0.46 0.57
7828 11:15[ I AR X E ST FERT) £ |Nal 0.09 0.69 0.10 0.87 0.49
7828 11:20| KFER (AOAD £ [Nal 0.09 0.55 0.09 0.46 0.48
7828 1128 B =/ N2k (#F9) £ [Nal 0.09 0.59 0.11 0.74 0.46
7828 11:31 [ ER/NER (Fp0O) £ [Nal 0.09 0.31 0.09 0.30 0.46
7828 1134 [ B EF /R (B EE) £ [Nal 0.05 0.74 0.06 0.88 0.26
7828 1137 [ E R /N (BREERD) £ [Nal 0.07 0.78 0.08 0.94 0.39
7H2H 13:30|— VYR EMXESAT (ZBHAED = |Nal 0.07 0.08 0.07 0.08 0.38
7828 13:35| T /MR ELSFT [GEE)) £ |Nal 0.12 0.60 0.13 0.78 0.63
7828 13:40[{E PR E ST [GEZD)) = |Nal 0.10 0.63 0.10 0.58 0.54
782H 14:02| %R RE SRR [(GEZD)) = [Nal 0.13 0.55 0.16 0.73 0.67
7828 14.06[ A AR EST [GEZD)) = [Nal 0.11 0.59 0.14 0.79 0.60
782H 14:17 | Kih X EE SRR [(GEZD)) = [Nal 0.12 0.98 0.13 1.11 0.64
7828 14:34| L F R ESFR [GEZD)) = |Nal 0.12 0.99 0.12 1.05 0.63
782H 14:41 [ KEEst [(GEZD)) = [Nal 0.13 1.04 0.14 1.36 0.69
7H2H 14:46| KA L (hRAEEER)| = [Nal 0.11 0.66 0.11 0.93 0.59
7828 15:03|Z BB RESFR [(EERD)) = [Nal 0.13 0.67 0.13 0.72 0.68
7H2H 15:30| F/MEHM X ESFR (EE15) = [Nal 0.14 1.10 0.14 1.37 0.73
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